I[MTPOOAHO
KBapTHpa
3 Ne30 (cTp.11)
So.=123,1
M2
Snm =159
M2

9TaXxK

IMPOOAHO
KBapTHpa
) Ne25 (cTp.6)
So.=123,1
M2
Snm =159
M2

9TaX

KBapTupa
Ne20 (cTp.1)
So.=128,2

M2
S m.m. =40,5
1 M2
ena mo
3amnpocy
[Tpu nokynke
KBapTUPH Ha
1 - M 3Taxe -
meprosna B
MOJapoK

9TaX

I[TPOOAHO
KBapTupa

Ne29 (cTp.12)

S o0.=55,8
M2
Snn =4,7
M2

IMPOOAHO
KBapTHUpa
Ne24 (cTp.7)
So.=559
M2
Snm. =4,7
M2

ITPOIOAHO
KBapTHUpa
Nel9 (cTp.2)
So.=97,6
M2

S n.m. = 53,1

M2

[TPOJAHO
KBapTupa

Ne28 (cTp.13)

S o0.=55,3
M2
Snn. =4,7
M2

[TPOOAHO
KBapTupa
Ne23 (cTp.8)
So.=55,4
M2
Snm. =4,7
M2

KBapTupa
Nel8 (cTp.3)
So0.=96,4
M2

S nmo. =52,2

M2
IIena oo
3amnpocy

[Ipu nmokynke
KBapTUPEHL Ha
1 - M araxe -

meproya B
TI0IapPOK

1 moxmme3n

[TPOJAHO
KBapTupa

Ne27 (cTp.14)

So.=55,4
M2
Snm =4,3
M2

[TPOOAHO
KBapTupa
Ne22 (cTp.9)
So.=55,5
M2
Snm =4,3
M2

KBapTHUpa
Nel7 (cTp.4)
S0.=97,6
M2

S n.m. =53,1

M2
IIena oo
3amnpocy

[Ipu nmokynke
KBapTUPHL Ha
1 - M araxe -

meprona B
TI0IapPOK

Brnox B3

KBapTHpa
Ne26 (cTp.15)
So.=112,1
M2
Snm =95
M2
ena mo
3ampocy

I[MTPOOAHO
KBapTHpa
Ne21 (cTp.10)
So.=112,2
M2
Snm =95
M2

ITPOOAHO
KBapTHpa
Nel6 (cTp.D)
So.=132,6
M2
S nm. = 37,2
M2

KBapTHpa
Nel5 (cTp.26)

SNRENNVNVE kBapTupa Nel4 | kBapTupa Nel3

3 M2

I S RS S 0. = 554 M2 | S 0. = 55,3 M2

M2
IHIena nmo
3ampocy

KBapTHpa
NelO (cTp.21)
So.=112,2

2 M2

I NI SR S 0. = 555 M2 | S 0. = 55,4 M2

M2
IHena no
3amnpocy

[TPOOAHO
KBapTupa Ned
1 (cTp.16)
So.=132,7
3Tax

M2

S no. = 37,3
M2

IMPOOAHO
(cTp.27)

Snn =4,3
M2

I[TPOOAHO

kBapTupa Ne9

(cTp.22)

Snn =4,3
M2

I[TPODIAHO
(cTp.28)

Snn =4,7
M2

[TPOOAHO
KBapTupa Ne8
(cTp.23)

Snn =4,7
M2

2 mombesn

[TPOOAHO
KBapTupa

Ne12 (cTp.29)

So.=55,8
M2
Snno =4,7
M2

[TPOOAHO

KBapTupa Ne7

(cTp.24)
So.=559
M2
Snm. =4,7
M2

[TPOOAHO

KBapTupa Ne2

(cTp.19)
So.=82,3
M2
S nao. = 37,8
M2

I[MTPOOAHO
KBapTHUpa
Nell (cTp.30)
So.=123,1
M2
Snm =159
M2

IMPOOAHO
KBapTtupa Ne6
(cTp.25)
So.=123,1
M2
Snm =159
M2

IMPOOAHO
KBapTtupa Nel
(cTp.20)
So.=95,5
M2
S nm. = 38,0
M2



